>
N & 0 & AF &2 8 A A
20149 S0la LB H sMEsH
SM: SMERD
FM: [NoHsdBN(SZES/82E25Y)
el ML CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=AEE 10,447,752 26,304,445 A 15,856,693
=2 254,600
& 560,000
J| 77,286
< 319,200
Al 9,236,666
AASZEN(BFES /83 E5EH) 338,500 1,386,736 A 1,048,236
= 26,000
< 14,700
Al 297,800
et 2t 118,000 1,230,640 A 1,112,640
= 6,000
< 1,800
Al 110,200
AEAEAH 78,620 161,620 A83,000
201 £B-2dH| 13,620 11,420 2,200
01 At 22l 11,420 7,420 4,000
Otz AN M= 3,000,000& * 14l 3,000
OBFBHNLSNS 519 Fu4g
70,000& = 7& = 23] 980
OXgouzied A& 3o 4+
70,0003 = 209 « 23| 2,800
OHATUI TN 49
70,000& = 10¥ = 23| 1,400
OBAUNSAL HHEISY &g
70,000& * 4H * 404 + 23] 2,240
OMEXASMAIY S2H  1,000,000& * 14 1,000
02 =24l 2,200 4,000 A 1,800
OXXIEHH =He3&E2z 3l
2,200,000& * 13 2,200
203 ¥R =&l 2,000 3,000 A 1,000
03 AIZ=AH S =AH| 2,000 3,000 A 1,000
O=sMsrd 2 FR=& - 2,000,0008 14 2,000
303 L&t 3 3,000 1,400 1,600
01 243 3,000 1,400 1,600
OSHs S8Z2FHEI M3 3,000
—3®= 1,000,000& * 200 A& 2,000
—&d 500,000& * 204 1,000
401 Al HIZ 2018 60,000 105,000 A 45,000
01 A& HI 60,000 104,514 AN44 514
SHS SZEUIEI AAH 60,000
—x*= 20,000,000& * 204 A 40,000
- & 10,000,000 = 200 2 20,000




SM: SMERD
FM: [NoHsdBN(SZES/82E25Y)
el ML CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S H AL 19,380 19,020 360
201 24l 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
Ostdog I8 A A 2,000,000 = 14l 2,000
OS2Y JIgAadA 2,000,000 * 14l 2,000
301 et d=s 5,380 5,020 360
09 SALAHIEA S 5,380 5,020 360
OXZAM21H A & X 0]
80,0003 = 4% = 43| 1,280
OgZdA & - LU A0
80,000& = 20H = 13l 1,600
OSZEFUHHAM 1,250,000 = 23] 2,500
307 glz2tol & 10,000 10,000 0
04 QIZtHAIE XS 10,000 10,000 0
Oostdtd, Jeleld |3y
5,000,000& * 13l 5,000
OJIZFHSIS ODHAEHEUERD AdAMY
5,000,000& =+ 13l 5,000
DB ABHEAR EEAMY XA(S) 20,000 20,000 0
= 6,000
< 1,800
Al 12,200
307 glz2t0l & 20,000 20,000 0
= 6,000
< 1,800
Al 12,200
02 QItFAEXZ 20,000 20,000 0
OJRAEBESS 245 Y JRAHESN
5,000,000& * 43| 20,000
= 6,000
< 1,800
Al 12,200
OIsAE B3 220,500 156,096 64,404
= 20,000
< 12,900
Al 187,600
OrsA=E 2el 157,500 92,096 65,404
101 @14 Hl 62,900 17,496 45,404
04 JIZHHZ22XREES 62,900 17,496 45,404
OMENWEOFMA S (DA R E=AIY) 2182
3,700,000& = 170 S = 62,900
201 ¢er24] 6,600 6,600 0
01 At 22/l 1,600 1,600 0
OsHEllol RoliotsES 2M 223 2 600




2N

g Iié%?é?.@(%?é?.ii/%%?ii%t&)
&S OHlESAE ES CEERED)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 2%, g, X)) 30,000& = 209 600
ORoiOtdESE == =0 HAl M
1,000& = 1,0004 1,000
02 =24l 5,000 5,000 0
ORloIMEE ToleXs 282
50,000& = 209 5,000
206 M= Hl 3,000 3,000 0
01 MHZ 4l 3,000 3,000 0
ORMOIMESE Do X AE 2
15,0002 » 209 * 102 3,000
301 et A= 20,000 0 20,000
MIEE43 20,000 0 20,000
Oletl Z=EEHS 40,000& = 5000t2l 20,000
307 glz2tol & 5,000 5,000 0
02 QIZtFAE XS 5,000 5,000 0
Ontdssx=a8s 2494 XA
5,000,000 * 2JHEHXl = 50/100 5,000
402 QI2H X201 M 60,000 60,000 0
01 RIZEAr=2E X 60,000 60,000 0
OOM=E T AL (OtMMESES Y 2t
H2stEE Mi12x)
2,000,0009 = 50014 * 60/100 60,000
OHMsSAESES 2 22(2) 40,000 42,000 A2,000
= 20,000
< 6,000
Al 14,000
402 RIZEX201 A 40,000 42,000 A 2,000
= 20,000
< 6,000
Al 14,000
01 RIZEAt2EX 40,000 42,000 A 2,000
OOtMSZE moliole Al
2,666,660% * 25014 * 60/100 40,000
= 20,000
< 6,000
Al 14,000
Ol SASES(E) 23,000 22,000 1,000
< 6,900
Al 16,100
101 @124 dl 9,000 8,000 1,000
< 2,700
Al 6,300
4 D12t ZE2XREES 9,000 8,000 1,000
O0fds= 2A&E el
40,000 = 2% = 100 8,000




DA =AEAY
FM: [NoHsdBN(SZES/82E25Y)
&S OHlESAE ES CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 2,400
Al 5,600
O0fds= 2AE 4HE2EZ  500,000& * 2% 1,000
< 300
Al 700
206 M= Hl 4,000 4,000 0
= 1,200
Al 2,800
01 =8l 4,000 4,000 0
ONtdEE dzdyH 294
2,000,000& * 10024 2,000
< 600
Al 1,400
OtdEsE 90l 5,000& = 400kg 2,000
< 600
Al 1,400
302 Ol THoH E &= 10,000 10,000 0
< 3,000
Al 7,000
02 RIZIOITHOH 2 & = 10,000 10,000 0
O sSEld=szES BE&3
100,000& * 10024 10,000
< 3,000
Al 7,000
ol (#Z22s/U71) 637,713 669, 265 A 31,552
= 178,600
J| 77,286
< 91,700
Al 290,127
oy ezax4d 581,226 623,560 N42,334
= 178,600
J| 77,286
< 91,700
Al 233,640
tHolegaz & 53,940 51,560 2,380
201 ¢er24l 35,440 33,380 2,060
01 At 2t 2l 13,210 11,350 1,860
ONSIHHEItA EHEF M= L MG 900
-5 150,000& » 39H 450
—ot= 150,000& * 39 450
OBANCY 22 K02 M
200,000& * 3& 600
O, =& 438385 isgds NEHIE S
ol 50,000& » 103 500
OUIl, =82S Q=53 4A2E F¢ 2,510
— DHSH O 2t X 70,0003 » 3<A 210




S =MEAD
M (o|ge(#BES/UII)

el D B#AXY (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
— CO/HCZ! £ 100,000& * 28+ A 200
— HICI@3t0 2t (H 0l =, 213X )
200,000& * 1&¢A 200
—HIAISIHFE O DX 100,000& = 1&8rA 100
—%F AlE 2D el 30,0008 * 302A 900
—HiEsgA AlIEMF S0/72Y
3,000& = 3002 A 900
O aH E2H| 1,000,000& * 23| 2,000
OJI&dsitle 24| 1,000,000 * 23] 2,000
OEAIZOIEN EE2H| 1,000,000& * 43| 4,000
OthELA NS HA 2120 2g
70,000& = 19 = 108/ 700
02 35244l 22,230 22,030 200
OWUIIANZF X (96X3595,=8se,88)
S Xy 1,850& = 1004 = 128 2,220
OUWIIANZIF X (96X3595, =8 s8h) +=al
s 200,000& = 1CH 200
O, =& sS3&EH sl 1,800
— =3 & 200,000& * 1= 200
— CO/HCE A DI 100,000& * 1= 100
— 2853 200,000& * 15 200
— 2N 2 F D] 300,000& * 1& 300
— HICI 23t et 200,000& * 15 200
— PHE & D| 300,000& * 15 300
—olEREA 200,000& = 1= 200
—Cass3| 300,000& ~ 15 300
OUIIsE NEHHZEH AL =8 970
— CO/HCE A DI 100,000& = 1CH 100
— 0 ASEED| 100,000& * 2CH 200
— =S ANEFEH 600,000& = 1CH 600
— HICI 22t 2t 70,000& = 1CH 70
oMJIENssd2 ALl
6,000,000& * 14 6,000
OoJIgNssdEY B8 40,0008 * 12& 480
OMJILLEXNsSEIY SN2
400,000& = 12& 4,800
omJIENssdx MI2
230,000& = 12& 2,760
OIIENsEsEEY FTHAM =5
3,000,000& = 14 3,000
301 YerE A3 500 500 0
11 IIEtE &2 500 500 0
Oty TAZ 50,000& * 102 500
307 QI2t0| & 18,000 16,000 2,000




S =MEAD
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Selr ol 2#FXA
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|
18,000,000& = 1
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18,000
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= MW

26,000
13,000
3,900
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000

4,000

= MW

26,000
13,000
3,900
9,100

,000

14,000

2
OBAHQAERN AHEE X3

20,000& = 1,300AlICH

= Hn W

26,000

26,000
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,000
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SHOIEHRIXNE(2)

= MW

414,000
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82,800
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000

54,000

= M W

414,000
165,600

82,800
165,600

414,000

MIIEtE2d=

OsdioIEXM2IH K=

3,600,000& * 115

= N W

414,000

414,000
165,600

82,800
165,600

414,000

Ao 2H=0 XS(=)

Al

87,286
77,286
5,000
5,000
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000

37,286
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87,286
77,286
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5,000
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37,286
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SN =MEZD
Ba: golegne
el BEWHRE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 124 dl 13,673 12,755 918
4 D12t Z2XREES 13,673 12,755 918
OSZNEREZ 2UUE AIE2 Z AL 13,673
—Jlas 41,6803 * 4% * 352 * 23] 11,671
- =54 41,6808 * 4% = 5 * 23] 1,668
— AR EINLC
41,6808 * 4 + 12 * 23] 334
201 et 42,814 32,950 9,864
01 At 22l 1,350 600 750
OBFWHLLS B2 42 M
60,000& * 5044 * 23] 600
OBFWHLLS B2 A2 X
50& = 15,0000H 750
02 232gHl 41,464 32,350 9,114
OBFNERLS 2HTS 39,600
—DXAM M & 2EsY 23 (HII2)
330& = 25,0004 * 23] 16,500
—DXA M Y PHEY RB(SE2)
330& = 35,0004 * 23] 23,100
OFMERES JH&AHE =2
80& = 20,000A 1,600
O#FNE2LZ2 XZEDI(MHSOIMS=A )=
=3 22,000& ~ 123 264
HIOISZ2S(#ZES/HIIS) 5,443,528 4,571,300 872,228
= 50,000
< 42,800
Al 5,350,728
HOI=SJIEtAIE 22l 530,000 534,496 A 4,496
dEsHeldz2dg 59,752 75,692 A 15,940
201 Let2d] 52,952 68,892 A 15,940
01 At 2teltl 27,880 34,280 A 6,400
O&==xcelAld 2l 1,000,000& * 400 A 4,000
OFEB4LHUY YRL 2TAN
900,000& = 43| = 1A 3,600
OFEXMelE | =EZA
500,000& = 43| = 4042 8,000
O&F&=+=XelZ Xots =2 A A
180,000& * 43| » 9 A 6,480
Ogd = ELET AAM
600,000 = 13| » 8= 4,800
OmJIE E&Z At =8  50,000& » 1094 & 500
OHE4LHAY 22N Y= 7
100,000& = 2% « 23] 400
OF&E+=HME 224 ¢ds ¢
50,000& = 2% = 13 100
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3 HoIEZ

Sl HIISOIE

S = AR D
=13
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B
i
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2324l 25,072 34,612 A 9,540
OMEZSZMYDIIMEE MIANEZ
300,000& = 402 = 123 14,400
OFBESXF (O AT AIERZ
30,000& « 12& 360
OFBE&=HMelZ(0tXl) 2elA BLA(ER)
1,400& = 4004 » 63& 3,360
OEgd KXYl 92,000& 104 92
O&EE==HMelAIZ(0tX) | 22l 5,000
—E=20, d3=, FYEZ S
5,000,000& * 14! 5,000
OO0XIs E&Held YHAAY SdMER
155,000& * 128 1,860
206 M= Hl 6,800 6,800 0
01 M= 4l 6,800 6,800 0
OLE & WAL ¢ 500,000& * 43 2,000
OsE+H ABRY
100,000& * 4& 123 4,800
HE =8 FHIAY 470,248 458,804 11,444
201 et 1,260 1,260 0
01 At 22l 1,260 1,260 0
OJlzesyols &44+Y
70,000& = 6% = 33 1,260
702 JISHEES 468,988 457,544 11,444
(RPIE=RSE-3= 468,988 457,544 11,444
OHIJISMEANEF=HFLUXNAIIS HES 468,988
- AXHHEH= 400,000,000& * 14! 400,000
—dEE MYIISSEEHH 10/100(H ==
dl Hex38) 604, 110,0002 = 10/100 60,411
—dEE HoI2™Mel==22 10/100(H &=
dl Mex28t) 85,770,000& * 10/100 8,577
Mol ™el 4,885,068 4,023,022 862,046
= 50,000
< 42,800
Al 4,792,268
HESEEXAY 15,450 35,700 A 20,250
201 ¢er24| 1,800 1,800 0
01 At 22l 1,800 1,800 0
ORg&soL JIE L HESST 849 X
& 60,0002 * 54 300
OHEZES, HAAEX, HAAZS XMl EE=
SIES 500& * 3,000% 1,500
301 et a3z 300 300 0




= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
JIEtEA S 300 300 0
Ol12l83 A8+ HM &1 30,000& = 109 300
2I2tol 3,600 3,600 0
QtFAE XS 3,600 3,600 0
OZ1VESE UsZH 22 3,600,0008 14 3,600
AEHI& 2 9,750 30,000 A 20,250
A& HI 9,750 30,000 A 20,250
OALEIEME Eel=HE &X
650,000& 154! 9,750
MY JISEEIIES 4,350 8,430 A 4,080
2 et A | 3,850 7,930 A 4,080
01 At 22l 1,900 1,900 0
oMl &I 228 822 M
250,000& * 43| 1,000
OoXgJl &I 228 208 M
150,000& * 43 600
oMl &I 228 =2 M=
60,000& = 53l 300
=323l 1,950 6,030 A 4,080
OMYUDJIESE T ZAISt0ct 0l&E &
300,000& = 204 = 33l 1,800
OMYIIE-YEIl ZA3t0et sl&d 0ldHE
25,0003 = 204 = 33l 150
301 gt 4= 500 500 0
M IIEIEA S 500 500 0
OMYDIIE-YED & ZAZ
20,0003 = 259 500
HAEH 22l ,264 230,084 214,820
201 Let24d] ,620 208,340 A 15,720
01 At 2teltl ,200 1,200 0
o=l ,200
—EHYRN 22X AF3
50,000& = 8H « 13l 400
—HYRN 220 Y=
100,000& = 8H « 13l 800
=323l ,420 207,140 A 15,720
O&FA2ZHIS A ,480
— Ol & | 1,000,000& = 2CH 2,000
FAXE G HMZE 60,0008 « 40 = 23] 480
OFAX & KA 188,940
—05A3690(HHE S, EAX, ER)
1,850& = 6004 » 123 13,320




SA MBI
H: oL (BBLS/HIIS)
chel: Mad M2l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—96X9006(UHEstE, BExHMeX, ER)
1,850 = 4004 = 12& 8,880
—9543659(S83tE, AN, BR)
1,850& = 2004 * 128 4,440
—82HBI(UEsES, THAUBHAR, ER)
1,850& = 1,3004 =* 128 28,860
— G FLH5990( L EHtOl, Jt&el)
2,400& = 502 = 123 1,440
— ZS07224(LEHHOl, Jt&El)
2,400& = 502 = 12& 1,440
— 9543697 (HESast2, SASsXdII+=AH)
1,850& = 1,1004 * 128 24,420
—96X9108(HESast2, SASXYII=AH)
1,850& = 1,1004 * 128 24,420
—9BXRI(HES2sE, SAELYII=N)
1,850& = 1,1004 =+ 128 24,420
—96x923(HESsste, SAsXdII=A)
1,850& = 1,1004 * 128 24,420
—8728336(L =, IISHEHLE)
1,850& = 2004 * 128 4,440
—9979104(ES8S+st2, SIHMEX)
1,850& = 2004 = 12& 4,440
— SASAYUD =HIE =2l S
200,000& « 10CH = 12&8 24,000
206 M= Hl 22,644 21,744 900
01 =4l 22,644 21,744 900
OLHIUZHAX XY &7 16,500
— 284 300,000& = 2504 7,500
— AMOIEEH 150,000& * 60K 9,000
SEETEL IR 4,944
- 10,000& * 4274 420
—PPEY 300& = 5,0000H 1,500
— U=z 6,000& = 4204 = 83l 2,016
—JIEH( M0l S) 2,0008 * 429 « 12& 1,008
OMZX H=XelAlEd HLEH P&
300,000& = 43| 1,200
MEgdlREtMel (M 2 SAZ) 4,014,857 3,243,687 771,170
101 @14l 17,507 13,997 3,510
4 JI2ZtHZ22HEE = 17,507 13,997 3,510
OctZ Il SASXAII=EEI HH 17,507
= 41,680& * 4H * 90 15,005
— T4 41,6803 * 4% » 12¢ 2,001
R SPNE =R L=, 41,6802 * 4H * 3 501
201 Let24E] 9,970 9,490 480
01 At 22l 6,250 6,250 0




SA MBI
H: oL (BBLS/HIIS)
chel: Mad M2l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3AsM)l 2el=H EE2 HME
2503 = 25,000MICH = 1 6,250
02 =224l 3,720 3,240 480
OMEEX SHE 1252 SH24R
9,000 = 208 = 108l » 123 2,160
O2ddteA IS
5,000& * 26004 * 128 1,560
206 M= Hl 42,000 39,000 3,000
01 =4l 42,000 39,000 3,000
EFMH 2 AH 50,000& *» 60 3,000
OSASHIISE EA4+TEI 2
40,000& = 9004 36,000
O2esteA AHYNK 2
100,000& = 3000 * 1=l 3,000
207 O] 16,000 16,000 0
01 A7 39l 16,000 16,000 0
OMBMA )| HANBAA BIIS
8,000,000& * 14! 8,000
OSAERHIIE = 2CEHAEZ JAINZA 2
= 8,000,000& * 14! 8,000
307 21201 A 3,844,380 3,130,200 714,180
05 RIZt2IEt = 3,844,380 3,130,200 714,180
OMEM ) FAlEE
3,825% * 48,200MICH » 123 2,212,380
OsalSMdll 28 & HMel YAAE2S | 1,632,000
— 28t 26,000& = 12,000 312,000
— X 110,000& = 12,000& 1,320,000
401 AIEHI L 20 85,000 35,000 50,000
01 A& HI 85,000 35,000 50,000
O2ddteAa & 15,000,000& * 2J0H A& 30,000
ongss 2cl=Hl £&x
1,000,000& = 500H £ 50,000
OYgXHIIZ A el (&d0E &)
1,000,000& * 5& 5,000
MeJISEHSE 22 243,947 243,821 126
201 ¢er24] 12,500 27,500 A 15,000
01 At 2t 2l 12,500 27,500 A 15,000
OHJI2™elE MA(HE) 500& * 5,0000H 2,500
Odg & SAHEF SEH A EL 10,000
—cl=d & 222 MH
200& * 25,0000 * 2& 10,000
206 M= Hl 181,200 173,200 8,000
01 M= 4l 181,200 173,200 8,000




M sME
X{ XH -
(=R B

el M

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMYIIESSHM dESE HE 181,200
—MEMY I 25 M= 80& * 1,500,0000H 120,000
—SAZFRHII=S & M
282 = 1,900,0000H 53,200
—=2=22 25 M 80 = 100, 0000H 8,000
307 QI2t0| ™ 49,747 42,621 7,126
05 QIZtREZ 49,747 42,621 7,126
OMYIISE/E T2 49,747
— M EMY D] 604,110,000 * 6% 36,247
—SASFHII=S 225,000,000& * 6% 13,500
802 BtEtZ2 DI Ef 500 500 0
03 =S 500 500 0
OSSN 228 =42 &=
10,000& = 503 500
WEEELTLHZ NA(T) 6.000 6,700 AT00
o= 1,800
Al 4,200
301 et A= 6,000 6,700 AT700
= 1,800
Al 4,200
11 JIEtE &2 6,000 6,700 A 700
OME2E T BASXS(HS2Y HE2tA
El Hsogly) 403 = 150,000kg 6,000
o= 1,800
Al 4,200
MHess3Ldsa3i2 198,500 168,500 30,000
301 LBt A 198,500 168,500 30,000
11 J|EtE A= 198,500 168,500 30,000
OHXNIAE=AHE A= 198,500
— HHEY 120& * 1,500,000kg 180,000
—SsoslYg(gelY) 150& * 10,000kg 1,500
—SABIYH(E2tAE) 800& * 10,000kg 8,000
—-s2%=X 1,000& = 7,200kg 7,200
— Hl Xl 30& * 20,000kg 600
— HRadY 30& = 20,000kg 600
—HEcAE 30& = 10,000kg 300
— & 30& * 10,000kg 300
=SZHUHI Y™ S=HE XA (=) 86,700 86, 100 600
= 20,000
= 20,000
Al 46,700
301 et A= 86,700 86, 100 600
= 20,000




o
CE . HY(BH) - HBAY - BES %Eﬁ HR=2
20,000
46,700
11 J|EtE A2 86,700 600
OsZHHYE+HEANZ 1002 * 867,000kg 86,700
= 20,000
< 20,000
Al 46,700
sHU Y28 XR(2) 100,000 100,000
2 30,000
= 21,000
Al 49,000
1T AIEHZ 2L 100,000 100,000
= 30,000
3 21,000
Al 49,000
01 Al&H| 100,000 100,000
Od9s=sHHY ss86tE &X
5,000,000& = 2000 £ 100,000
= 30,000
< 21,000
Al 49,000
SE0Istd 22 28,460 14,678
A0I3H& 2 28,460 14,678
201 et 9| 22,820 11,488
01 AR 22l ] 7,260 4,260
O=EIIGFGIAANPA L DX Alg2e
2,000,000& * 2o A 4,000
OMEHIIE =H, A2 HERQ
40% * 2 5000 * 10 1,000
O&tZB0I3d AIRA HEASESE L ARH2EF
Q! 100,000& = 43| 400
O&tZ0I3d AIR4 H4D| gl
0,000& = 12€ 600
O&td0|lstay g¢ 1,260
— T EIj 100,000 » 69H 600
-1 60,0002 * 6% 360
— 20k 50,0008 * 6H 300
02 2324 15,560 7,228
O=E0IGE AFRA L MIAIE HI=
800,000& = 12& 9,600
O&tZ0I3d AIRA H X HAE
100,000 = 13 100
O=E0IGA AIRA A5, Kotz MEES
100,000 = 12& 1,200
OtZ0I3d XHDX UHAIAE FIHAIS
155,000 = 12-5 1,860




SA MBI
M Holeu

ool 2Z0|std 22 (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OBYYy dad(Hete =£1)
1,400 = 3004 = 4& 1,680
OBFOIGH MRA MAT 222U AR|(
== 1,400 = 2004 = 48 1,120
301 et A= 5,640 2,450 3,190
09 SHAIAHI 2 A2 2,640 2,450 190
OtHDIsY HSHAF XY (SHHE )
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